Fall 2002 CS540A MIDTERM EXAM

November 7, 2002

1.5 hours  25 questions

Name: _______________                 ID:_____________

Note #1: when you answer the questions, if you think there are some conditions missed so that you cannot answer properly, you can write down your assumptions as supplementary to the conditions given. 

Note #2: For multiple choice questions, please briefly explain your choice and your knowledge on the relevant subject, so if your choice is wrong, you might get partial credit.

1. Which command can you use to display the date and time in the form of 23:20:41 OCT-30-2002 ? (4 points) e.g.

SQL> select sysdate from dual;

SYSDATE

--------------------

23:20:41 OCT-30-2002

A. ALTER SYSTEM SET NLS_DATE_FORMAT='HH24:MI:SS MON-DD-YYYY';

B. ALTER SESSION SET DATE_FORMAT='HH24:MI:SS MON-DD-YYYY';

C. ALTER SESSION SET NLS_DATE_FORMAT='HH24:MI:SS MON-DD-YYYY';

D. ALTER SYSTEM SET NLS_DATE_FORMAT='HH:MI:SS MON-DD-YYYY';

Answer:

2. Which type of segment is used to improve the performance of a query? (4 points)

A. Index

B. Table

C. Temporary

D. Data

E. Rollback

Answer:

3. Which data dictionary view shows the available free space of a tablespace?  (4 points)

A. DBA_EXTENTS

B. V$FREESPACE

C. DBA_FREE_SPACE

D. DBA_TABLESPACES

E. DBA_FREE_EXTENTS

Answer:

4. Which method is correct for starting an instance to create a database? (4 points)

A. STARTUP

B. STARTUP OPEN

C. STARTUP MOUNT

D. STARTUP NOMOUNT

Answer:

5. Which process is started when a user connects to the Oracle server in a dedicated server mode?  (4 points)

A. DBWn

B. PMON

C. SMON

D. Server

Answer:

6. Which two environment variables should be set before creating a database or connecting to the database as SYSDBA by OS authentication? (Choose two) (4 points)

A. DB_NAME

B. ORACLE_SID

C. ORACLE_HOME

D. SERVICE_NAME

E. INSTANCE_NAME

Answer:

7. As a DBA, you would like to see how many users are currently connected to the Database, and what SQL statements the users are executing, which data dictionary views to check? (Choose two) (4 points)

A. V$SESSION

B. V$SQLAREA

C. V$LOG

D. V$DATABASE

E. V$LOGFILE

F. V$CONTROLFILE

Answer:

8. The database needs to be shut down for hardware maintenance. All users sessions except one have either voluntarily logged off or have been forcibly killed. The one remaining user session is running a business critical data manipulation language(DML) statement and it must complete prior to shutting down the database.   Which shutdown statement prevents new user connections, logs off the remaining user, and shuts down the database after the DML statement completes? (4 points)

A. SHUTDOWN ABORT

B. SHUTDOWN NORMAL

C. SHUTDOWN IMMEDIATE

D. SHUTDOWN TRANSACTIONAL

E. SHUTDOWN

Answer:

9. You need to enforce these two business rules:

1) No two rows of this table can have duplicate values in the specified column.

2) The specified column can not contain null values
Which type of constraint ensures that both of the above rules are true? (4 points)

A. Check 

B. Unique

C. Not null

D. Primary Key

E. Foreign key

Answer: 
10. Which two actions cause a log swtich? (Choose two) (4 points):

A. A transaction completes.

B. The instance is started.

C. The instance is shutdown.

D. The current online redo log group is filled

E. The ALTER SYSTEM SWTITCH LOGFILE command is issued.

Answer:

11. The credit controller for your company has complained that the report she runs to show customers with bad credit ratings takes too long to run. You look at the query that the report runs and determine that the report would run faster if there were an index on the CREDIT_RATING column of the CUSTOMERS table. The CUSTOMERS table has about 5 million rows and around 100 new rows are added every month. Old records are not deleted from the table. The CREDIT_RATTNG column is defined as VARCHAR2(5) field. There are only 10 possible credit ratings and a customer's credit rating changes infrequently. Customers with bad credit ratings have a value in the CREDIT_RATINGS column of 'BAD' or 'F'. Which type of index would be best for this column? (4 points)

A. function index

B. bitmap index

C. b-tree index

D. reverse key index

Answer:

12. Which of the following list the correct hierarchy of storage structures, from largest to the smallest? (4 points)

A. Segment, extent, tablespace, data black

B. Data block, extent, segment, tablespace

C. Tablespace, extent, data block, segment

D. Tablespace, segment, extent, data block

E. Tablespace, data block, extent, segment

Answer:

13. Examine this TRUNCATE  TABLE command: 

TRUNCATE TABLE emp;

Which four are true about the command? (Choose three) (4 points)

A. All extents are released

B. All rows of the table are deleted

C. NO undo data is generated for the table's rows, and hence no rollback

D. It's a DML statement, so issuing 'rollback' will undo all the changes.

E. It reduces the number of extents allocated to the emp table to the original setting for the MINEXTENTS if set or the initial exent.

Answer:

14. You have a database with the DB_NAME set to 'test1' and ORACLE_SID set to 'test1'. The following files are in the default location($ORACLE_HOME/dbs) for the initialization files: 

· init.ora

· inittest1.ora

· spfile.ora

· spfiletest1.ora

The database is started with this command:  SQL> startup

Which initialization files does the Oracle Serer attempt to read, and in which order?(4 points)

A. init.ora, inittest1.ora, spfiletest1.ora

B. spfile.ora, spfiletest1.ora, inittest1.ora

C. spfiletest1.ora, spfile.ora, inittest1.ora

D. inittest1.ora, spfiletest1.ora, spfile.ora

Answer:

15.  When is the SGA created in an Oracle database environment? (4 points)

A. When the database is created

B. When the instance is started

C. When the database is mounted

D. When a user process is started

E. When a server process is started

Answer:

16. Tablespace PAYROLL_DATA is a Data Dictionary managed tablespace. You issue this statement:

CREATE table emp (emp_no number(10), ename varchar2(50)) 

tablesapce payroll_data 

storage (initial 400K next 400K pctincrease 50  maxextents 512);

Which two columns are required from DBA_TABLES data dictionary view to determine the size of the extent when it extends? (Choose two) (4 points)

A. BLOCKS

B. PCT_FREE

C. NEXT_EXTENT

D. PCT_INCREASE

E. INITIAL_EXTENT

Answer:
17. Which data dictionary view to display all the indexes of a particular table, which column(s) is indexed on and what order the columns are being indexed if there are multiple columns of an index? (4 points)

A. USER_INDEXES;

B. USER_IND_COLUMNS;

C. USER_TABLES;

D. USER_TAB_COLUMNS;

Answer:

18. Which of the following is true after you accidentally issue this command to stop the listener? (Choose two) (4 points)

lsnrctl stop

A. All existing users(remote or local)  connecting to the oracle server are disconnected 

B. Only existing remote users connecting to the oracle server are disconnected.

C. New remote user trying to connect to the oracle server will fail.

D. All new users (remote or local) will not be able to connect to the oracle server.

E. All existing users (remote or local) will remain connected to the oracle server even after the listener is shutdown.

Answer:

19. Which three statements are true about the user of online redo log files? (Choose three) (4 points)

A. Redo log files are used for recovery

B. Each redo log within a group is called a member

C. Redo log files are organized into a minimum of four groups.

D. An Oracle database requires at least three online redo log members

E. Redo log files provide the means to redo transactions in the event of an instance failure, and recover to the point of crash.

Answer:

20. Which type of index does this syntax create?

create index scott.emp_idx1 on scott.emp(ename) pctfree 20  tablespace indx storage (initial 200k next 200k pcincrease 0 maxextents 50);

A. Bitmap

B. B-Tree

C. Partitioned

D. Reverse Key

Answer:

21. A user calls and informs you that a 'failure to extend tablespace' error was received while inserting into a table. The tablespace is locally managed. Which three solutions can resolve this problem? (Choose three)  (4 points)

A. Add a data file to the tablespace

B. Change the default storage clause for the tablespace

C. Alter a data file belonging to the tablespace to autoexend

D. Resize a data file belonging to the tablespace to be larger

E. Alter the next extent size to be smaller, to fit into the available space
Answer:

22. You query DBA_CONSTRAINTS to obtain constraint information of the SCOTTS.EMP table . 

SQL> select constraint_name, constraint_type,search_condition,validated from dba_constraints where owner='SCOTT' and table_name='EMP';
CONSTRAINT_NAME                C SEARCH_CONDITION          VALIDATED

------------------------------ - ------------------------- -------------

EMP_CK1                        C sal>=0 and sal<200000     VALIDATED

EMP_CK2                        C ename=upper(ename)        VALIDATED

FK_DEPTNO                      R                           VALIDATED

PK_EMP                         P                           VALIDATED

SQL> desc scott.emp;

 Name                                      Null?    Type

 ----------------------------------------- -------- ----------------------------

 EMPNO                                     NOT NULL NUMBER(4)

 ENAME                                              VARCHAR2(10)

 JOB                                                VARCHAR2(9)

 MGR                                                NUMBER(4)

 HIREDATE                                           DATE

 SAL                                                NUMBER(7,2)

 COMM                                               NUMBER(7,2)

 DEPTNO                                             NUMBER(2)

Then you issue this SQL Statement:

SQL> insert into scott.emp (empno,ename) 

          select emp_number, 'JohnDoe' 

            from (select max(empno)+1 emp_number from scott.emp);

What's the result of this statement? (4 points)

A. It successfully inserts one row in the SCOTT.EMP table

B. It successfully inserts more than one row in the SCOTT.EMP table.

C. The statement returns an error because the EMP table's primary key constraint is violated.

D. The statement returns an error because EMP_NUMBER is not a valid column.

E. The statement returns an error because the ENAME value 'JohnDoe' is not valid

Answer:

23. Which memory structure contains the parsed SQL statements and their execution plans? (4 points)

A. Buffer cache

B. Shared Pool

C. Log Buffer

D. Large Pool

E. Java Pool

Answer:

24. Evaluate this SQL statement:

create tablespace hr_tbs datafile '/u01/oradata/test1/hr_data01.dbf' size 2m autoextend on minimum extent 4k nologging default storage (initial 5k next 5k pctincrease 50) extent management dictionary segment space management auto;

Why this statement return an error (4 points)    

A. The value of the PCTINCREASE is too high.

B. The size of the data file is too small.

C. You can not specify default storage for dictionary managed tablespace.

D. Segment storage management can not be set to auto for dictionary managed tablespace.

E. You can not specify default storage for a tablespace that consists of an autoextensible data file.

Answer:

25. The user 'scott' created the SALES_HISTORY table. 'scott' wants to find out the following information about the SALES_HISTORY table:

· The size of the initial extent allocated to the sales_history data segment

· The total number of extents allocated to the sales_history data segment

Which data dictionary view(s) should 'scott' query for the required information? (4 points)

A. USER_OBJECT_SIZE

B. USER_SEGMENTS

C. USER_TABLESPACES.

D. USER_FREE_SPACE.

Answer:

